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WTT <
(TTSe Wt quT St o o erRareT)

Th Il 5 T 10 I&h o 400 330 I, ™A | T 8 ufd 791 Fifea
foram T o, = 2 9faq 3T S AW ArEAT BT BT PTAE T HE W EO
H T | 37 AT o T W AN Sl @Id b AW 9 H @Al i
GTQ"ﬁ:

(a) T 4,000 (b) =800
¢ 3,200 @ = 2,000
Tt

tfraa fafiee 3 T 10 9% & 700 =13 &1 = 109% Hiftem w
frifira foeam o e, = 5 o omw (fftrem wga) &t smeaed Ty qen
T 3 Td 3T hl YoM TF Al Ir=AT TRT 1 PTAE T St T FOT B
foram | 39 3Ten & BT W ST g @’ & ST 9 | @il bl St

(a) < 7,000 (b) T 1,400
© = 4,900 @ = 2100
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(ii1)
(iv)

(v)
(vi)
(vii)
(viii)

(ix)

67/1/3

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.

Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

1)

(i1)

PART A

(Accounting for Partnership Firms and Companies)

A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of
these shares, ‘Share Capital’ account will be debited with :

(a) T 4,000 (b) ¥ 800
(c) < 3,200 (d ¥ 2,000
OR

Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of ¥ 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be
credited with :

(a) < 7,000 (b) ¥ 1,400

(c) T 4,900 (d T 2,100

—~ Page 3 P.T.O.
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F AT @ Teh BH § AEIGR o GAT 7 : 1 % AId H ATH-TH T fa9eH
g | F J YAk fqHTEl & IRH H T 12,000 h Tk Hivaa Uit &1 st
foman | STTETT W 6% aTfSer @ @ =S Wi foRn SiTar @ | 99 % 31 H STE
T SIS GHTNG A bl U= gfafse g

(a)

(b)

(c)

(d)

1)

(i1)

30T 9L TS WAl 1M ¥ 1,800

& 1 Sl @l < 1,800
3T Y TS QT ™ T 1,800

%’ 1 =] @l < 1,800
o 1 ISl @rd1 Tm T 1,800

HTET SIS Gl < 1,800
AH-gTH fof—se @@ I < 1,800

TS TS @Il < 1,800

Ufed fetfice 7 T 100 Ie3sh < 2,000, 9% ol 1 fiw T 95 wfd
OIS 9T 3T | 9% =RUT9S @Td o STHT 981 § @diHl shl STt -

(a) = 1,90,000 (b) = 1,10,000
¢ = 2,00,000 @ = 10,000
YT

Fr=fafaa # @ =9-a1 eF o@eT 22

(a) RUT W SIS Ueh YYR B, fof=em T8t |
(b) TR i &g W FifHa fomam S depar B |
(c)  RUTIAUTRET bl A1 a3 T SRR T 2 |
(d) ROl St A § yiafda & ke S gekar |

HYFIT(A) : T Teh 3T IHEH B |
HRI(R) : Tfd wfosy d mferd ogmer ol & Afaics et A %

Tree H Ueh BH ol JiissT &1 0 7 |

ffafaa § 9 w8 faerew =1 =74 Fhifso

(a)
(b)
(c)
(d)

YA (A) HEl B, Weg B (R) T B |
AMYH (A) TTeAd 8, T RO (R) TE 7 |
MR (A) AT HROT (R) AT T&T B |
MR (A) AT HROT (R) gHT TTeAd & |

-~~~ Page 4
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‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c) A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800
(1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at ¥ 95
per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d) ¥ 10,000
OR
(i1))  Which of the following statements is incorrect ? 1

(a) Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.

(c) Debentureholders do not have voting rights.

(d)  Debentures cannot be converted into shares.

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits. 1
Select the correct answer from the following :
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

—~ Page 5 P.T.O.



®H o foaed o gwy fefafad § 9 fopd aeel @ § g&araid fhaT SIa ?
() &g F o g geuE

(i)  GTAe 1 R0
(iii) 9 9=
(v) IIfd

(a) ()3 (v)
(b) (), (i) AT (iv)
) (), (iii) 9T (iv)
@ @, (D, (ii)

M1 TAT ST Teh BH H ATSIGR @ qAT 2: 1 % UM H ATHI 1 [ HTSH

@ | e B @i # % wT % foru e A aw R T | stem 3 e

9T &1 % T Aferar | qen % T SO | foram | e, STmT qen o1ed

T AT AT AT B
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d) 4:2:3

Heleriaa Hreqi4e 1Cfd &1 96T To1 399 &1 7T a1 & 3MYR | 397 &1 7 797
8 & I T -

67/1/3

ShiadT, il a1 WY Toh ®H H ATeiGR off qon 39eh! ISt shus: T 6,00,000,
T 4,00,000 TAT T 2,00,000 ff | G5t W 10% MM G & AN & o 999Tq.
AT o7 favTe 1 TR 4 o

EACK] % aT, i % T QAT 0y % T | shiddT 3 SARATT 9 § TR <
fop @t # =foar w1 9w g | AN 99IRG B o 9 fREl oft 9§ |
T 1,00,000 T 7 T& B |

ot W SIS YeH @ qd 31 W, 2022 I HHTH B ot oy H ey
Z 3,00,000 o |

gferdt =1 a1y O 9rT T <h qfst 9 w5 o
(a) ¥ 40,000 () T 70,000
(¢) T 20,000 (d T 10,000

-~~~ Page 6
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Which of the following will be transferred to Realisation Account at the
time of dissolution of firm ? 1

(1) Provision for Doubtful Debts
(11) Partners’ Loan

(111) General Reserve
(iv) Goodwill

(a) (1) and (iv)

(b) (1), (i1) and (iv)
(¢c) (1), (iii) and (iv)
(d (@), (i1) and (iii)

Akshita and Anurag are partners in a firm sharing profits in the ratio of
2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d 4:2:3

Read the following hypothetical situation and answer questions number
7 and 8 on the basis of the given information :

67/1/3

Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :

Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be

less than ¥ 1,00,000 in any year.

The profit for the year ending 315 March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

Savita’s share of profit is short of the guaranteed amount by : 1
(a) ¥ 40,000 (b) ¥ 70,000
(c) T 20,000 (d) ¥ 10,000

—~ Page 7 P.T.O.



10.

11.

67/1/3

®H o Fol AT I TR T T T THEISH L o 9= drgiei J T
Tomam SITUET

(a) hiadl T 60,000, Fladm T 40,000 TAT 7Y T 20,000

(b)  faal T 50,000, Ffa@r T 1,00,000 a2 7Y T 30,000

(c) hfadl T 60,000, Ffadr T 90,000 TAT 7Y T 30,000

(d) faar T 60,000, Ffa@r T 1,00,000 92T 7Y T 20,000

TR, | qUT A T BH H AIRICR & a1 4 : 3 : 2% STIId § ol
favsH ®d € | 9 9aTHgd @ TR0 YT S99 el STevEsh aHRiSHI,
ufmrafet o qTeieh 9 CAAIstt o AR & qvErq 39 dSit @Id 1 99
T 4,00,000 ® | TG qm 3faT 38k g b qui fueE # 39 T 4,60,000 H
WTAH L o TIC g0 21 Q| | 31 HaTH-ea = % hl ST | 3Heh1 |
=

(a) < 20,000 (b) ¥ 60,000

(c) < 1,80,000 (d) < 1,20,000

3T, SMYR AT AT FEER & qAT 3:2:1 % I H e 1 faumsH
Fd A | 1 JAE, 2022 FHI AHR BH H HaTHGd & T | T H
Tarfgfa &t fafy w feufa faawor smv-gfi @d & 9@ 95 § T 1,20,000
Y AT T A7 | AT Bl &F THERT AT AT Hd THT 39 AT BT S0
ﬁvTITTﬂTQ"'IT:

(a)  3THA QAT STYR o YNt @Il o AH 98 H YU A19-fIu== ogama | |
(b) 3T, YR AT AT o Yoit @Il o A9 98 H A ov-faue=

IUE T |
(c) T qUT YR o Yol @Al < ST 981 H ¢ AH-fIwTs= 7gama # |
(d)  3TH QT STYR o GSit @Il o AT 9&1 H I ATy ura | |

(i) o, Y qAT IR Teh B H AISIGR & AT 4: 3 : 1 I H ATH-FIH 1
fawrsH i o | 1 faaesy, 2022 61 @ K 9g B TS | FF i gy H
fafsr <t wH & @t hi TOET T 80,000 F S | Y ATH ok W R
AT R S
(a) AT ©Td & 98 987 § T 40,000 hl G i |
(b) U-BH T @rd & 9™ & ¥ T 40,000 i G Heh |
(¢) ATH-IH 3fd @WId o 99 987 § T 80,000 shl Wl *ieh |

(d) Y-S 3Efd @rd @ 9 9§ T 40,000 Hl G e |
AYAT

-~~~ Page 8



8. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu T 20,000
(b)  Kavita ¥ 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita ¥ 90,000 and Madhu T 30,000
(d) Kavita ¥ 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

9. Gaurav, Sonu and Anita are partners in a firm sharing profits in the
ratio of 4 : 3 : 2. Sonu retires and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities is ¥ 4,00,000. Gaurav and Anita
agreed to pay him ¥ 4,60,000 in full settlement of his claim. Sonu’s share

of goodwill of the firm, on his retirement is : 1
(a) ¥ 20,000 (b) < 60,000
(c) T 1,80,000 (d < 1,20,000

10. Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred : 1

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

11. @) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15t September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1

(a)  Debiting Profit and Loss Account with ¥ 40,000.

(b)  Debiting Profit and Loss Appropriation Account by I 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with I 40,000.

OR

67/1/3 ~ N~~~ Page 9 P.T.O.



12.

13.

14.

67/1/3

(i1)

oo, fiar qen oAfar U ®H H @IEER o 997 3:2:1 % 39 H
ATH-ZTH T Ta9TSH d o | o1 HaTHgd &l 715 3TR 3HehT HFT HiaT qen
AT g sUe-sUeR form mn | Adr qen A s A= any o

ITATA B :
(a) 2:1 (b) 7:5

(c) 1:1 (d) 3:2

srfea 4t 61 a8 9t 58 St e auTe % wu € qhdt ® |, S g

(a)
(b)
(c)
(d)

i:‘ o |:
~& < ﬁ

I IR I TH BH H ARGR @ | I 4 1 JAE, 2021 H FH H
T 6,00,000 T KT {1 | TR HIg TR Toi@ &l AT | 31 ATE, 2022 i

A R0 R A 91 =1t bl = TSy 1 geher o

(a)
(c)

(1)

(i1)

Z 36,000 (b) T 18,000
F 9,000 @ T 27,000
fem Qe 1 T wH H "ERR § | 31 97, 2022 % §HT §C AN A,

T 9 YA UE o I § T 10,000 Ifd W T SR fRAT B
TN T ST 6% aTfNeh e & YT foharm ST o |

31 HT=, 2022 I G BU N H A1 % TS T A B

(a) ¥ 3,900 (b) T 325
¢ T 3,600 @ T 3,300
Tt

faur qn 3ATen U wH W EIEiER € | 31 ", 2022 %1 GHIG 8¢ 9N H
IR A Ak faArd & T=d H T 1,000 hT 0T fohaT 3 | SR W
TS b1 VT Y 3itEa srafy gl

(a) 6WE (b) 4% Ik
© 71w @ 6lum
2 2

-~~~ Page 10



12.

13.

14.

67/1/3

(i1))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita

and Anita will be :
(a) 2:1 (b) 7:5
(c) 1:1 (d) 3:2

That portion of the uncalled capital which is called only in the event of
winding up of the company, is called :

(a)  Called-up capital

(b)  Uncalled capital

(c) Issued capital

(d)  Reserve capital

Aman and Chaman are partners in a firm. On 15t July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315t March, 2022, Aman was entitled to get the following amount as
interest on loan :

(a) ¥ 36,000 (b) < 18,000
(c) T 9,000 (d) ¥ 27,000
(i) Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000

per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per

annum.
Interest on Neena’s drawings for the year ended 315t March, 2022
will be :

(a) T 3,900 (b) T 325

(c) T 3,600 (d T 3,300

OR
(i1))  Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

(a) 6 months (b) 4% months

(¢) 7 % months (d) 6% months

~ Page 11 P.T.O.



16.

17.

67/1/3

foreh T 9 T 100 I3 &1 T 99, @ 20% Nftem w fFrifia fmar mn
oT, T 30 W 3T hl JeM AT=A1 aAT T 10 Fid 391 hi SAfH AT 1 YTAH
T W, W R T | =Ead qod N8 W 39 ST ol QA TR S

Hohdl 3 :
(a) T 40 ®) T 60
e T 20 (d T 100

1)

(i1)

srferar feifiee 4 T 4,70,000 i g IR & Hd oI % aea
T 5,00,000 % qUT Y& 37T 1 fEA fRam | T 30,000 % 29 T @A
I - - R - - A~ 1o 1

(a) TATfd, A9 9

(b)  YS T==, AW 9L

(c) ST &=, ST 9&

(d) W g=F, ST 9

T
aeu fafiees 9 gua fafieg &1 T 12,00,000 1 gRErafi qen
T 4,00,000 i IATRA HI T 9,00,000 h HT oI T ARG HE hH
Tgafd & | oI 1 PTAE T 100 T&H & 11% FOGAT 1 10% 98 T
Tt =tes g o | i fopu T sroTaE <Y g B

(a) 9,000 (b) 10,000

(c) 8,000 (d 11,000

voraT, W YT 3TN UH BH § WEER U qUT 3 : 5 : 2 % U H 9-gIH
fawfa @@ 9 1 1 3189, 2022 1 HH TarEd & T | GHeTR, Bfd qen
giad Al 3Tl § Fafad et FETESHl Sl B o GYETd Tad qUT ST W gl

@Tdi § A T 3,00,000 9T T 1,00,000 T FHT A9 o7 | I8 v forem mam
Yo @ AT Yt BT 39 ¢ Ay -faare sruTa § gmrEnfsa foeer S |

IS URMET A 31T ARG HE hl 39Tk USHH=T Tfafseal hifsu |
39 I Hl W Y F IS |

-~~~ Page 12
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17.

67/1/3

Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is :
(a) T 40 (b) % 60
(c) T 20 (d ¥ 100

(1) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of T 4,70,000. The balance of T 30,000

will be to account.
(a) debited, Goodwill
(b)  debited, Capital Reserve

(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(11) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be :
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Shweta, Meenu and Asha were partners in a firm sharing profits and
losses in the ratio of 3 : 5 : 2. Meenu retired on 15! April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Shweta and Asha
showed credit balance of ¥ 3,00,000 and ¥ 1,00,000 respectively. It was
decided to adjust the capitals of Shweta and Asha in their new profit

sharing ratio.

Pass necessary journal entries for bringing in or withdrawal of the

necessary amounts involved. Show your working clearly.

~ Page 13 P.T.O.



19.

20.

67/1/3

Tffar, €T, 3T AT Afoid Ueh %H H ATSGR o 927 3:2:4 : 1 & 314 o
ATY-BT bl TS otd o | 1 370, 2022 8 38 ATHBM bl 5:1:2: 2
% uTd | fawifora e &1 ol forn | gm0 fafar =& w0 < @nfa &1 geame
T 5,20,000 fRaT AT AT YEaeRl H AT H@EE T 1,00,000 S TET AT |

3T Al o ToTu. 3rawres Ustara=n gfafseat i | 3709 &R i oI &9
 gsy |

(%)

Wy fdfides 9 T 10 38 % 1,00,000 3= Bl 10% HftE
afigm & fau Sar =i frifi fopan | wegel ofSr smaes w e off |
3,00,000 3P % fAC A& IH gC qo1 Sig 4 Foig forn fo6 all
STYTIET I AT SATIR T 3 3T ATeH L T I |
e fdfide i geashl H IR oAl o T STewdeh TSI
gafeear Hifs |

3T
e fafiee 9 @t fafies 1 T 60,00,000 i qiEwafaar qen
¥ 10,00,000 ! AT T 45,00,000 % T oI T T+ hl A o |
TR 1 PTaE T 100 I&h & 10% TGN Sl 25% Hiftem = fifra
hieh fohaT ST o |
vigq fafade i geaenl U IUYH Gl oh [oIT STERISh  USHTH]
yfafseat i |

1 379, 2022 1 AT qAT HY H BH I g T 1,50,000 3 | TR

TSt W TR A FE @ 10% B | FH 6 SiEd @ T 23,500 7 |
SYATHT h N 1 b 3hY o STER T HH shi BT hl AT FHIFT |

rera
Tfard qom Aicieh T %H H HISIGR & q91 4: 1 s IJUId H ATH-BTH
faueM *td & | 1 31, 2021 I Il IS HAM: T 1,20,000 AT
T 80,000 off | 1 feawer, 2021 =1 3IaiH ol o foh w61 St
T 3,00,000 gFft freh fofu 3k g0 2:1 % 1qud@ § JmgH T
ST |

TS Tci@ o 3TN, ATEIGRI &l 6% dTNeh &t & Yoit W A G
ST |

31 |1, 2022 ! THE & ITcl 98 § Yefl W U I aer S <l oM
T |
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18. Sangeeta, Deepa, Ajay and Lalit were partners in a firm sharing profits
and losses in the ratio of 3 : 2 : 4 : 1. They decided to share profits and
losses in the ratio of 5 : 1: 2 : 2 with effect from 15t April, 2022. On this
date, the goodwill of the firm was valued at ¥ 5,20,000, General Reserve
appeared in the books at ¥ 1,00,000.

Pass necessary journal entries for the above transactions. Show your
workings clearly.

19. (a)
(b)
20. (a)
(b)
67/1/3

Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd.

OR

Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of T 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited.

On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the
firm based on three years purchase of super profits.

OR

Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 15! April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to
the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022.

3
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67/1/3

a1 fafiee i AfYsha ISt T 40,00,000 7 ST T 10 T & GHAT 90 |
fowfsa 2 | 9 3 80,000 3131 1 Tifid o & fofu 3taed mmwbBEa foeu |
78,000 319 % ¢ (e WH B | @ AT W1 Gl TS qUT kAo
1,500 3T W T 2 Ui 370 <hl 999 Wa 3FqH Ir=FT TR bl Bt Tt T
TTH B TS | 39 3130 hT 8101 oY ot T |

(%) ol rfafm, 2013 & ST III, 9F I o AR Sl & foIfd
foraor & “orer 46l =l gwItEw |

(@) 3 o fau @ral & Aed o TR FHiN |

g, <eh qoT T T BH T ATEIGR o qAT 2: 2 : 1% AU B ATH-FIH I
foamem vt 9 | 31 #7H, 2022 it 3w fEufa foawer 1 yer @ o

31 UT™, 2022 i MR, Eiueh qT Tat a1 fearta feero

N ufr e rrfr
ISEALS 50,000 | W Td wed 2,10,000
= 9= 1,00,000 | M=t 1,90,000
Eau) 1,20,000 | ik 30,000
g fraw 1,70,000

g 1,60,000 fomtram =i @ 1,20,000

[{EED 1,50,000

EEIE| 1,40,000 | 450,000

7,20,000 7,20,000

30 S, 2022 W GER I g 71 TS | HBIGR hHI I W AR For@ § e
bl Tl T :

(i)  H I TN HI Yo TS IR aui o 3{d @, s T 1,80,000
%,%2% N1 o ShT o IMYUR R foram STam |
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21. Tanay Ltd. has an authorised capital of ¥ 40,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 80,000
shares. Applications for 78,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 1,500
shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.
(b)  Also prepare ‘Notes to Accounts’ for the same.

22. Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315' March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 | Assets i
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement 1,20,000
Suspense A/c
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
Sudhir died on 30t June, 2022. The partnership deed provided for the
following, on the death of a partner :
(1) Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were ¥ 1,80,000.
67/1/3 ~~~~ Page 17
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67/1/3

(i1)

(iii)

g ! Tafyr 9 @19 31e@T g § gUR o WISl T0AT fosha W TTUR
W ol JE@h | 31 7=, 2022 S GHE B4 a1 98 A fosea h afy
T 4,00,000 off TAT 1 T, 2022 ¥ 30 I 2022 Tk ToRa hHt TR
T 1,50,000 ot | 31 e, 2022 ! FHH BT a¥ H AW T 1,00,000
o |

ISt X 7% ST oL | AT fean S |

Gl o fsargehl i Giud & foT Ih1 ISt @it dar HIT |

(%)

I AT T TH BH H ARIER 4 AT 3 : 1 % I H AH-gIH I
foumem &t 9 | 31 9, 2022 i 3T fRafa foawor 1 ger o
31 WT=l, 2022 i Ja qYT R 1 feafa faawor

TER 41,000 | 99 ©d TIfA 60,000
= Ty 80,000 | W 40,000
e T 12,000 | frasr 60,000
g ik 50,000

Ia 79,000 STER 38,000

Ey 48,000 1.97.000 | 2 : HieH Fo

e e smag™ 4,000 34,000
EETSS 16,000
2,60,000 2,60,000

1 379, 2022 1 I8 ATH % 1T o foTu 9 31t W 997 ol BH |

SENRTOIE

(1) I AU Yoil qAT 3T HAT o T FE=H 6 T 4,000 TG
AT |

(i) a1 AT T 68,000 foham T |

(iii) TIF T AR R 10% HeIg™ =T A |

YHEATRA @1 qT HIBIER o Ysi @d dIR HINT |
AT
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(i1)

(iii)

Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors.

(a)  Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022
Liabilities Am;unt Assets Am;unt
Creditors 41,000 | Plant and Machinery 60,000
General Reserve 80,000 | Building 40,000
Outstanding Expenses 12,000 | Investments 60,000
Capitals : Stock 50,000

Yuv 79,000 Debtors 38,000
Veer 48,000 | 1,27,000 | Less : Provision for
Doubtful Debts 4,000 34,000
Cash 16,000
2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1)) Investments were valued at ¥ 68,000.

(iii) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.
OR
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(@) T, MY qA WA UH B A WEER A 9941 5: 30 2 F IIgu A
ATY-ETH o1 fauoH wid 9 | 31 7, 2022 &1 39 fefa faeror =

b AT

31 UTH, 2022 Y T, ATIEHT qeT AT 1 fearfar ferawon

N ui.n e TI'ST
fafay Aqer 2,20,000 | Uhe 1,60,000
M 9= 1,20,000 | &TeR 1,80,000
& =T : "iey =l
' fow yreg™ 20,000 1,60,000
RIN 6,00,000 ih 2,00,000
ITEE  5,00,000 ey 6,00,000
BRIl 3,00,000 | 14,00,000 | W 4,00,000
qegd 1,20,000
ATH-TH QT 1,00,000
17,40,000 17,40,000

39k fafer sl AT HerriHee &1 T SR e W HEhld 58

() W9 H FETHg W BH 6l SN BT AR T 12,00,000 FeRa

T |
(ii)
H4I |
(iii)
(iv)
ST |
(v)

F 40,000 % Teh 3ATARId TER T @ TohT TH=IT |
T 30,000 % CAGRI ohl Gad R o €I H IHUfcigd T T

JTYSHH AT AT AT § T} 1 fa9oH 2 : 3 & I |

TSN 1 & IS T SEATAL0T 38k k0T @Td | T e T3 |

HH T J&ehl H ITYTH AT o 10, STTE9Ieh ST SISl shifau |

a2 2o 2o 4

Page 20




(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities 2| Assets e
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
. Less : Provision for
Capitals :
Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/3

Reyansh retired on the above date and it was agreed that :

(i) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii)  Aayushman and Sabhya will share future profits in the ratio

of 2 : 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into

account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm.

-~~~ Page 21

P.T.O.



24, MG R AT Th HH § HAHCR 9 AT 3 : 29k AT H ATH-FIH o1 foHTSH=
A ¥ | 319, 2022 1 IThT et foawor = g o

31 HT=l, 2022 h1 ATIAIT qAT =TT A1 Tearta feremor

ISELALS 90,000 | s | Uhs 20,000
Syt aATfesT <1 o 30,000 | T 24,000
ST hT ROT 30,000 | et 30,000

= g9 45,000 | STER 20,000

& - o7 : Gy ko %

' @ geEgE 2,000 18,000
et 1,00,000 L DF| 1,00,000
ORI 97,000 | 1,97,000 | fasiaw 3=fa @ran 2,00,000
3,92,000 3,92,000

31 AT, 2022 = FHfRad 3|t W B o1 fo=es & i
(i) e F T 17,000 H FEA g o GIF H [Edh oA § 10% Ak

el g |

(i) e 7 sfiudt oTfey % U1 I PIAH HH H1 dTQr fohAT qAT Wik
F 20,000 & for=m |

(iii) ST 9 3y o™ 10% ¢ W o T | 9w fasn @ = 4,500 61 It
T |

(iv) TFERI T YT 10% 2 T T feam i |
(v) S & T 7,000 9 |
JHA @I R HIT |
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24. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as
follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022
A t A t
Liabilities moun Assets moun
< 3T
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh ~ 97,000 | 1,97,000 | Advertisement Suspense
account 2,00,000
3,92,000 3,92,000
The firm was dissolved on 315t March, 2022 on the following terms :
(1) Debtors realised ¥ 17,000 and plant realised 10% more than the
book value.
(i1)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at
T 20,000.
(iii) Shreyansh took away half of the investments at a discount of 10%.
Remaining investments realised ¥ 4,500.
(iv)  Creditors were paid off at a discount of 10%.
(v)  Expenses of realisation amounted to ¥ 7,000.
Prepare Realisation Account.
67/1/3 ~~~~ Page 23
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()

fr ofifeafoi @ omli & &0 w@ AR it SavEs UsHMEE

yafseat i -

() S HSH AR I T 10 79 & 75 31 W+, e T 4 9fq e
fiftem W frifya fohen mm o, & 8 wfa ofw (ffirm @feq) i
AT TR T PIAH 7 HH W, FWOT R o= | T 4 9faq 131 i
vorg Ud 3ifom Fremn iy ennft with 7 w8 oft | g fopw w st
I T 15 Ui 3191 qUi Weq g4 Fifa o feam |

i) e fafies 3 T 50 ufd 71 & 1,200 3T @+, g w0 goa
X fifia fopem o e, € 10 wfa st 1 SAfcm Ar=A1 1 PIaW
T HE T, O R =T | FH " 900 3T I T 45 Tkd A U1
Yea q4: fifaa s foam m

T

gseht fIfiee 4 T 100 T & 30,000 M 1 20% Hiftem w frifia

S o e e emmba fpu | ufa o191 Tfsr =1 gmam = w&r &

é???ﬂ:

e W — T 40 (T 10 SHfiem 9fzaq)
A& W — T 30 (T 10 Hiftem wfza)
Y| I W — T 30

o wa sifow =T @ — 3

40,000 3 % AT @S Ued gL qAT 35,000 AT % IMEGH ol

AT 3TEeH T TG T | I &GNl 3 Thd L fGa T |

IS W ITed ATANTR SIS T FHRIISH 3Teed W ¢ TR § =K fen

T |

T, fmm 700 319t & e StraeH foban o, Sf1§ed Ufst &1 Jyrae

H 3TThA TG AR e o qd ITaTd 4 3T T &1 HL form T |

3G d1¢ Y| Ir=ET AT TS qT YW AAT W oI gt AT -y |

TS | fgedta T AfaH AreET & Aih g |

gseht fIfiee i qeaehl H I9YH el o fofu Taws UsiHrd=n

gierfsar HifvT |
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25. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of ¥ 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at ¥ 45 per share fully
paid-up. 6

OR
(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100

each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30
On second and final call — Balance
Applications were received for 40,000 shares and pro-rata

allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6
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28.
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i i 6 gwshl ° fefafied oHcl o fou o ot 9 gefia

AT USHTHET Tfasedt ity :

(%) T 100 I% & 3,000, 7% FOGA B 10% Hfem w it feam,
et snem 5% Mfrem W fopan s |

(@) T 100 T3 & 2,000, 8% TGl I 10% Hifem w frifig fora,
et wem Tmeed W fopan Sem |

() T 100 TS % 1,000, 9% T I 10% § W Tifwa fram, e
Mmed 10% Hftem W feren S |

q @
fererew - 1
(it fererort 1 forgeraor)

Uhg JaTE Taer s 0y =faigd § @ -8 wFedl o oy nfafatern
o 3T=aId AT ST
(i)  gHAr I h1 T

(i) T ¥ UTed Uhs

(iii)  SEOT9AT T EA
(iv) AR T % faeg yram fepam o Tehg

& fasheq &1 =[S .
(a) @

(b) (1) adAT (i)

(c) (1) dT (1i1)

(d) (D), [11) dA (iv)

i) Tafafea & @ h-ar afiemr o 2
(a) TETOH W W hH AN = J=T0H 8 3 + bl A1d
(b) T ® AW hHi ANA = JIR(EHh Wieh — g T + A& I
— 3y =i
(¢) TS § 3T sl AT = AR(EHH Teieh + ATqH i
(d) IO W W sl AN = T 8 SR — Hehad 1Y

AT
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Pass necessary journal entries relating to issue of debentures in the
books of Shree Ltd. for the following transactions : 6

(a) 3,000, 7% Debentures of ¥ 100 each are issued at 10% premium,
redeemable at a premium of 5%.

(b) 2,000, 8% Debentures of ¥ 100 each are issued at 10% premium,
redeemable at par.

(c) 1,000, 9% Debentures of ¥ 100 each are issued at 10% discount,
redeemable at 10% premium.

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

(1) Issue of Equity Shares

(ii)  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a) (@

(b) (i) and (ii)

(¢) (i) and (iii)

(d) (@), (i) and (iv)

(i) Which of the following equations is correct : 1

(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory

(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit

OR
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o

feafafga 4 @ s g foaon & favasw =1 & ISuswu/aden
2
(i)  Uhg Ja1g foawom

(i) WA foeo
(iii) @Tal = AeH
(iv) el foemm

gl faehed 1 == hifNT
(a @

(b) (@) IR (i)

(c) (i1

d @), () 3R (iv)

ffTRed T 9 TaTfHed HIv 3 :

1] TEFI T 20,00,000

e giEE T < 40,00,000

ehTefia 3uR T 25,00,000

TaTiHce 31T 25%
(a) ¥ 10,00,000 (b) T 14,00,000
(¢) ¥ 24,00,000 @ T 15,00,000
(i) T foadfia 3om g “grae foham T TuTer Ushg YaTg foawn sH| 96

fr=fafaa o @ foem nfafafer & srarfq smmom

(a) ST Tfay

(b) T wifafafy

(¢c) forfim nifafafer

(d) gl (b) qT (c)

AT

(i) Uk 3T 39 g0 o W ued < Uehg YaTg foewur s 90y

fafafaa # 9 form wfafafe & sr=aiq smam

(a) Traw nfafafy

(b)  Torci TTidfare

(c)  SEITe Tty

(d Gl (b) T (c)
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From the following information, the ‘Proprietor’s funds’ are :

(a)
(c)

(1)

(i1)

Which of the following is a tool of Analysis of Financial

Statements :

(1) Cash Flow Statement

(i1)  Statement of Profit and Loss
(iii) Notes to Accounts

(iv) Balance Sheet

Choose the correct option :

(a) (1)
(b) (1) and (i1)
() (i)

(d) (), (i) and (iv)

Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

< 10,00,000 (b)

< 24,00,000 (d)

¥ 14,00,000
Z 15,00,000

‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow

statement :

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR

‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of

a non-financial enterprise :
(a)  Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)
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31. Ut Afuf=m, 2013 i FE 111, Wt I % AR F=fefad Agi i ®ut o
el foemor § & 3fiveh] U1 IU-3MhI (TG IS &) o =G afihd hivT : 3

(%) YSTa SR WG W
(@) AW I

()  HERT AR

32. ‘g8 feufa faewor qon emv-g faowor 6 fafim wel & g 3faa ey wnfug
ok BH 6l o drendl Ta HATINET &1 g9 6 Uishar & |7 Ufskan I

YEa ShIfSTT qUT Ug=H! T8 ITshaT o & 329 1 3gW@ hHIfY | 3
33. (i) Tr=fciRad =1 @ 9hct AW ST hl TUMET HIfT 4
TheY (Tefeh) AT AU : 6 T

e b9 (¥h) : T 4,00,000
AT <h1 Toshl ANTd W 25% <19 W <hl T

aterat
(i) TH HEA H AL A 2 0 18 | HRU dd g Ieoi@ W o
ffctiad THGHT & 98 STUId 9, =M A1 HH IS IR gl 8l @ 4
(a) ¥ 40,000 % AT I IUR A
(b) T 2,000 I FTH T T 8,000 3 Hritex i foishl
(¢ TAURIT H T 15,000 i Thg wIfed

d ¥ 6,00,000 % FHAT 7 HT FE
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a)  Capital work in progress
(b)  Calls in advance

(c) Computer software

‘It is the process of identifying the financial strengths and weaknesses of
the firm by properly establishing relationships between the various items

of the Balance Sheet and the Statement of Profit and Loss.” Identify the

process and state two objectives of the process identified. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory : ¥ 4,00,000

Goods are sold at a profit of 25% on cost
OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares ¥ 6,00,000
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34. fafafea wcufie @ = gfer qor 39 smur W feu U gt &% I
A
2011 § ¢ JaT WRAT ITHAT, d9ielt Wifean aun fade wifean & T Aas
3Tel TIeA TR i 1 (01T for | 30 99 SR | s Y@ Raae 161 o
3R 3IBH 39 HHT I QU HE I T <@ | I8H Teh IqANTRd] HHAQUl
JeHTEe U HIETsA W9 ! YA fohar fdeh gra Iuammehatsti @ fofu S1qaem™
hieh R QAT MEE 8 T | 2018 H 38 ‘SR soif fdAfHee’ wral | qiafdd
L T |
31 |, 2022 ! HrHT o Feffga feafa foawo 9 “semem nfafafert @ doe
TaTg <hl TUET hIFT |
31 W, 2022 ! ‘&R gt forfiree’ w1 feafa feremon
- :ﬁz 31.3.2022 31.3.2021
g. T T
I - |HAT TS qFaTy
1. ST Y
(%) 7= gait 9,00,000 3,00,000
(@) =g W@ AT 1 75,000 3,60,000
2. IR Fad
AREISIEAER IS 2 2,40,000 1,80,000
3. e A
(%) oAYR 18,000 60,000
(@) IRl Ta9™ 3 2,04,000 2,10,000
E5 14,37,000 11,10,000
II - ufEva T
1. TR aREEr
Toreft ufgmafat 4 10,08,000 5,76,000
2. =Tq REwfEt
(%) ik 3,54,000 3,87,000
(@) Ushg W@ Uhg oo 75,000 1,47,000
E3 14,37,000 11,10,000
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Read the following hypothetical text and answer the given questions on
the basis of the same.
In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car
Easy Ltd.” in 2018.
From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022
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Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
~a~
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Qrdi o A1ed :
Are 31.3.2022 | 31.3.2021
g. o T T
1 | 9= ug Iniee
AR AT ATY-gIH farawor &1 3w 75,000 3,60,000
75,000 3,60,000
9 | delerTel 3T
10% 09 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEE™
EZ@ICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
ENEE 11,52,000 6,45,000
gfad qoagrd (1,44,000) (69,000)
T 10,08,000 5,76,000
SAIaR® Gl :

1) 10% ot 1 e 81 |, 2021 i foham T |
(i) 99 % RME T 80,000 T T YA foha T |
WA @&
fowew - 11
(erfremferar wrEieRT)
27. <9 fafte @l 9@ wfad Afwsl o Tk 9) H ThANE b ST 8, d 98
HEATAT ®
(a) aTEdfdeh HI TRy
(b)  EHE TshHUI
(c)  ATehgl Aefieptu
(d) TR qUT g deR
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Notes to Accounts :

Note . 31.3.2022 | 31.3.2021
No. Particulars > >
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

1)
(i1)

When the accumulated data from various sources is processed in one

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.
PART B

OPTION - 11
(Computerised Accounting)

shot, it is called :

(a)
(b)
(c)
(d)

Real-time processing
Batch processing
Data validation

Processing and Revalidation
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(1)

(i1)

1)

(ii)

AN qAT A1 o IR H FIAT I B b AT S@iehd g1 39ad Sl
3= YAl € ST 83 &Il &, i H 2 :

(a) Uhg Ud Sk 39T

(b) =TT AWThd 39dd

(c) AT 39ad

(d) 3Ifag @rd 3udA
AgAT

3T 3MTehel shi Torell 19T ATl & o St 61 Ufsharm heard 8 -
(a)  ATehgr deffehto

(b)  3leher Ul
(c) T AThe
(d) WSl 3Tihe

hITSIthehyT i ATaTIHal Bl &

(a) I SigH i 3 o forw |

(b)  @Tal, SkdeieHi, 3¢ I FL&d WA @ foe |

(¢) ATl o MiUd W (THAF=M) & fou |

(d)  3Mhsl o IEH Tishavl & foru, 3faq fepie W & fou |

AT

& @R el hl HIEAT 98 HH BIdl @ A1 IR &HAT §gd
3T It B, 3T Ted & fou ffafad & @ $H-91 ditedaX dehd
I9Yh Bl @

(a) Tafere

(b) T o AR (C8)

(¢ oI fafsre wa 3o

(d) GE=
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(1)

(i1)

(1)

(i1)

The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and

expenses is : 1
(a) Cash and Bank sub-system

(b)  Expense Accounting sub-system

(c) Costing sub-system

(d)  Final Accounts sub-system

OR

The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b)  Data entry
(c) Information data

(d)  Storage data

The need of codification is for : 1
(a)  The generation of mnemonic codes.

(b)  To secure accounts, reports, etc.

(c) The encryption of data.

(d) Easy to process data, keeping proper records.
OR

Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very

small and adaptability is very high : 1
(a)  Specific

(b)  Tailored

(c) Specific and tailored both

(d)  Generic
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30. T JAHMUN HARE TG Bt i TNUMH HeATd @
(a)  ogcdd /T e

(b)  HAHd HcA
(c) ToEY qed
d) &fS g

31. TI@h HIFaRX Iofl o 99 H Wrdl o g ol a9=sy |

32, OISR 37eha (AIGT) i Y fafer i gaEmsy |

33. (%) ‘3AMhgl TEIU F1 2 ? Teh fGU T 3iehg ol TwUd i & (o fopd
3URLTTT ShT I feharT STTaT B 2 HEATST |

AT

(@) TG ARSI & TS ST hi T ST, |

34. U fow & GauM goF w1 w1 AL g ? 3Hh! AT § HERAT HiH dral foef=
e <l THIATSY |
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The outcome of an arithmetic expression or function is called :
(a)  Derived Value

(b)  Basic Value

(¢)  Vertical Value

(d) Horizontal Value

Explain ‘Group of Accounts’ with reference to Accounting software Tally.

Explain the methods of ‘voucher numbering’.

(a) What is ‘data formatting’ ? What tools are used to format a given

data ? Explain.

OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the

financial function which helps in its calculation.
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